ASSAM RIFLES TECHNICAL & TRADESMAN RECRUITMENT
WRITEN EXAM

SAMPLE PAPER LEVEL - Il

PART 1 — ELEMENTARY MATHEMATICS

\ : "~ Which fraction should be added to the sum of 5 3‘ 4 Z and 7 E tc make the result a whole number?
152, 4237 2 & avar 3 sl A 3ver S S B aftoner #F qutt a2
1 2 -~ \ “+
(A) :) (B) :} (C) s (D) TS

Q2. A number which when multiplied by 11 is as much above 180 as it was originally below it. The
number is / U3 HaT i@ 11 @ 7om fBFar se 180 | 33T &Y A7 &Y AT fora=n fF qga ST ar| @y FaT ¥
i (A) 25 (B) 30 (C) 40 (D) 45
Q3 A pole has 0 5 of its length in mud, 0.25 of its length in water and 2 meters above water The total
_tength of the pole is:- / U Grer T 0.5 Sars T3 #, 0.25 dars gredr 7 3 2 Aer anh & 39 8 99 & Fo
oars fpae 87
(A) 8 meters (B) 5 meters (C) 2 meters (D) 4 meters
Q4. Two numbers are in the ratio of 5:7 and if 12 is added to each of them, they become in the ratio of
_-7:9. The numbers are:- / & #aT & Ie(dial 5:7 & 3 afX &7 & 7 12 N3 A 0T A 37 A 7:9 @
SATTINT| ar YT Ha B
(A) 10 and 14 (B) 20 and 28 (C) 30 and 42 (D) 40 and 56

Qs By what smallest number must 34300 be muTtipIied in order to make it a perfect square:- 34300 &Y
JE I & oY FaT F 7on fFar ste @ ar ow gt a9 @ S

(A 5 (B) 6 (C) 7 (D) 14
Q6. "The cost of 2 articles is in ratio 3:5. If there is 30% loss on the first article and 20% gain on the
-sécond article, what is overall percentage of loss or gain? 2 a¥3 & AT FHed & Hequrd 3:5 g1 3z
mmwm«ﬁwsoQf%?mwamqaﬁmﬁwzomsmamm%a\#q:é.mﬁ
ufdrera @1 ar Faa gren?

(A) Gain 2.25% (B) Loss 5.25% J,Gv Gain 1.25% (D) None of these
Q7. In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average speed for the
trip was reduced by 200 km/hr and the time of flight increased by 30 minutes. The duration of the flight is
/ 600 fFaiieT €Y 3=/ & 2= UF garE FETS & @Ud #AEH & Fror oY @91 931l 3§ eas T
200 fFaEET 9fa g2 &9 & 7= 3T 33 & §HFT 30 AT ag 730 @S FEA F IFH B FA FHI
fFaar &2

Q8. A piece of work can be done by 6 men and 5 women in 6 days or 3 men and 4 women in 10 days
' In how many days can it be done by 9 men and 15 women? TF&T 1d &1 6 3t 3T 5 3T 6 R A qur

| e # 30T 3 3meah 3T 4 ST 3 FF B 10 Ber & qu aQ &1 38 w1 Y 9 e 3R 15 3R e
| Rt 3 g

r /a_;;, 1 hour (B) 2 hours (C) 3 hours (D) 4 hours

- (A) 1day (B) 2days \(/M days (D) 4days
Qo The annual income of two persons is in ratio 9:7 and their expenses are in ratio 4.3. If each of

them saves Rs 2000 per year, what is the difference in their annual income? &1 sataaat f arf¥s 313 9.7
¥ 3T A § A 37 Wt 4:3 F Heua A ¢ IR AFaas F 2000 TIF Ol ¢ A1 3+ Al eataaat
&1 arftss 37T #7 FaaT JAave?

(AL— Rs 4000 (B) Rs 4500 (C) Rs 5000 (D) Rs 5500

Q10. A trader lists his article 20% above cost price and allows a discount of 10% on cash payment. His
gain percent is

(A) 10% (B) 8% (C) 6% (D) 4%
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1 Find the compound imterest on Rs 2560 for X year at 121% per annum. interest payable quarterly.
| 2560 T 9T > a4 & A 12‘;%a|ﬁ$zzrﬁat¢tuﬂ_ﬁmmg\mmﬁmmmam
(A) Rs372050 (B rs 272250 (C) Rs 275250 (D) Rs ?259.50
Q12. If volume and surfacewarea of a sphere are numerically the same, then its radius is / A& R T
/ﬁmmmmmﬂmta\mﬁwmm
(A) 1 unit (B) 2 units . ) 3 units (D) 4 units .
Q13 income tax is decreased by 26% a man's net income increases by %%. Rate of income tax is /
Maﬁammwzemmmﬂmﬂtgmﬁ’;%. aﬁtqﬁama’tmﬁﬁa
fAraeh 2El? .
@  33% ®) 3% © 1% O 2%\
Q14. HCF of 3240, 3600 and a third number is 36 and their LCMis 2°x 3°x 5°x 72 The third number is/
3240, 3600 mmmatﬁﬂﬂammwﬁ %tsmmaqjcawmz‘x 3ox 2x 72EI AN

AR AE-
(A) 22x ¥x 7? (B) 2°%x 52 x 77 (C) 2x5°x7° (D) 2y 372
s V3" = 81, then n equals
(A) 2 (B) 4 (C) 6 (D) 8

\ A number is 64 times the square of its reciprocal. The number is / T et 3OS qREIRE F EA H
64 UM ¥ | A FHaAT -
A) 10 (8) 16 (C) 2 (D) 4
_ ifa+b: b+c:c+a =678, and a+b+C
a+b+c = 14 A ¢ & FEA FATEIM?
(A) 14 (B) 7 ©) 8

(D) 6
9,18. If 20 m long train travelling at a speed of 48 km/hr crosses a tunnel in 21 seconds, then the length
of tunnel is/aﬁeoﬁa#ﬁtﬂwmqﬁdﬂﬁzﬁﬁwgmaﬁm Fhs F I FLA & A IH

= 14. then the value of cis / af a+b - b+c :c+a =678, El103

qOTH wars o &7
(A) 180 m (8) 280m ~TC) 190m (Dy 290m
— The average of first ten prime numbers is | GBS 10 TS IH #r Ea A B-
(A) 12 SB«V’ 129 (C) 13 (D) 13.8

77 4. find the vaiue of X.
(A) 24 (B) 36 (Cy— 44 (D) 58

Q21. The largest number which exactly divides 210, 315, 147 and 161 s/ F=d a9t Fat S 210, 315,
147 30T 161 R RmSa et A AR

%29./""58%of960-x%d635=2

AR 3 \(/B) 7 (C) 21 (D) 4410
QZ%/tﬂﬁedmai system, 9- may be represented as ZXHAT oy ¥ 9° W FH IHN iy aefrar St g&ar
3
(A) 9.225 (B) 9.18 (C) 9.025 (D) S.125 \/
Q23. Anumb

rella marked at Rs 80 is sold for Rs 68, the rate of discount i

s | TF ol S sFaEed
\ﬁza'aomt.sﬁsewz‘:ﬁammm tzszatfamﬁmam

(A 12% (B) —15% (C) 175 %([D) 20%
~—"%. Y and Z invested Rs 10000. Rs 7200 and Rs 7500 in a
088, X's shareis / X, Y 31X Z & s

faeaT fhde gen?

common business. Out of profit of Rs
¥ 10000, 7200 3ﬂ17soommm|ma=9samﬁx Eal

(A) —Rs 400 (8) Rs288 (©)

Rs 300 (D) Rs 247
Q25. In how many

years will the sum of money double itself at 10 % per annum S.1.? =g g=a0Y 10
mmmmwwﬂﬂ#mﬁﬁm

(A) 4 years (B) 5 years C) 8 years yﬂ 0 years
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Q26. Choose the word that is most nearly opposite in meaning to the word reckless
(A) correct (8) slow (C) good (D) careful
Q27 Choose the correct synonym for the word Bequeath. o
- (A) Under the ground (B8) Suffer to death
\9} To leave by will (D) Helpful
Q28, Timely first aid resuscitated the patient. Select the correct synonym for the underlined word
il (A) Revived (B) soothed (C) cured (D) rescued
Q29. _ The antonym of the word gravitate is
e (A) Meditate (B).— Retreat (C) Deteriorate (D) Become serious
Q30. ripturals in junctions should not be opposed or treated with contempt. The most suitable word
for underiined expression is:-
A Filouted (B) flounced (<) Floundered (D) Flaunted
Q31. . The study of human societies, cultures & their development is called
~ (A) Entomoiogy (B) Archaeology (C) Ornithology (D) Anthropology
Q)Z A of puppies. I
(A)— Litter (B) Group (C) Herd (D) Stack
Q33. Select the correct spelling.
™ (A) Aparently (By— Apparently (C) Aprantlie (D) Apparrently
Q34. Which of these is not a vowel?
(A) | (B) A © O (E‘))/ W
Q35. How many consonants are there in English language?
T (A) 27 (B) 24 (C)— 21 (D) 20
936, Plural of sheep is:-
T A Sheep (B) Sheeps (C) Herd (D)  Sheep's
(_:yr ;e &1 @ e Far &7
(A) fasa (B) =i (C) HfFa (=) e
. Q38. IHaEHE @ AN A FATHEA S |
i (A)  Genius (8) Smart (C) Clever (D) - Intelligent
.33e. Hindi alphabhet consists of how many vowels? "
(A) 20 By 16 (C) 36 (D) 52
Q49 This is to certify that | know Mr J. Mathew.
o (A) am knowing (B) had known (G}~ have known (D) no improvement

(3;1,-/An appeal has been admitted __ the Supreme court.
i A) by (B) into (C) with (D) in

Q42. statement at senal no 1 and senal no 6 are fixed. Rearrange P, Q, R and S to form a
ningful statement.

Manners are the
P and there i1s a way of
Q or doing a kind thing
R speaking a kind word
S

6

{

-

ornaments of action

which greatly enhances their value.
SPRQ

(B) PSQR (C) SPCGR (D) PSRQ
Q43. Choose the correct synonym for the word abolish
{A) authorize (B) confer () annul (D) institute
Q44_ Jo adhik bolta ho use kya kehte hain? !
v~ (A) Mitbhashi (B)— Vachal (C) Mook (D)  Agam
Q45,. - They have invited us __ attend the function.
— (A) at (B) for (C) upto (‘D)/lto
0/46( As there is no bus service today we __ waik lo the station
(A) might have to (B) shouid (CVwﬂl have to (D) could
Q47. He enjoys to tell stories to children.
I /_(A) to narrate (D) no improvement

how to tell stories(B)‘/teumg stories (C)
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Q4 Each sentence has been divided into four parts.A B.C.D.Out of the four parts one is defective
u&ct the defective part:- (a) | am interested /(b) to any subject which/(c) is dry and requires/(d) hard
labour to prepare the examination

A) d ® b © e ©) a
\Qﬁ, Apparently he was feeling about his bad luck

(y, angry (B8) angrier (C) anger (D) angriest
Q&Antonym of word heterogeneous is:-

(A) mingled (B) conglomerate (C wentiw (D) unhomogeneous

PART 3 - GENERAL KNOWLEDGE AND GENERAL AWARENESS

Q51.  Which of the following is contained in the union fist? ( F3=7 & #¥s G g F A 27)
v

JAL  Police (qfe) (B)  Census (sr=rdwan)
(C) Land Revenue (3if& rsre) (D) Public Health and Sanitation(a=7 Taree 317 aETE
QS}/Thevioepresidemonndiacan be removed by -( m%mﬁﬂﬁm&mmﬁm
ST HHAT §?

(A) Presidemwnhtheadvioeofcoundlofministers(maﬁmﬂm*wﬂmm
(B) Lok Sabha with the consent of president. ( Tezafa Hr wesfa & & @3 AT )
(C) Rajya Sabha with the concurrence of Lok Sabha (54 HHT 2arT daasT 1 agsiy v )

H2.—"Raijya Sabha with the concurrence of the President (TS5 |3 Zay 9fads i aeufy o)

M Which of the following article of the constitution of India provides constitutional remedy for
enforcement of fundamental right? (SIRE & HfAUTET F7 foresy 3% & 37 R A HOwERT @ @wyp
A B gRawr garw awary )

(A~ Article 32 (3738 32) (B)  Article 33 (3¥=713% 33)

(C)  Article 34 (37e13% 34) (D)  Article 35 (3578 35)
. Q Whnchofthefollowingstatehasasepamoconsﬁtuﬁon?(ﬁ!ﬁﬁﬁ?r##ﬁmmwm
‘%;m &7?)

(A)  Assam (338H) B~ Jammu & Kashmir (G557 30T 3
() Arunachal Pradesh(35=iae w&e1) (D)  Sikkim (FRfaesn

857 Expert legal advice to the Government of india is tendered by the (3Ra GIFIK &) fa9y Fiegett
Hog fFw FEar & s )

(A— Attorney General of India (T S=ita 31T |IH0)
(B) Chief Justice of India (FET = ¥Ra @FN)
(C) Chairman Law Commission (FIT1 AT F @)
(D) Minister for law and Justice (FTse1 31T =Ty 74

Q56" The Sati system was abolished mainly because of the eﬂonsd(mmﬂﬁﬂwmﬁﬁm%
ma:mwgsm

(A) the British (fafeen JBP Raja Ram Mchan Roy(TST & #1g+ 9)
(C)  the Missionaries (73 g=rTe) (D)  Maharishi Karve (Fg1fyelr &)
Q57. among the following was not associated with the Indian National Army?(f37=7 31 & ®ts7
feee ®ist & Hau 71 t@ar )
(A) Subash Chandra Bose({ars g+ alH) (B) Rash Bihari Bose(Irer fagrdy arw)
(C)  Mohan Singh (A= &%) ADy—Bhagat Singh(31 &)

Q58. Who discovered the art of making paper in 2™ century BC?(&fash= AATEET ST G& FI9TH ) AT
&r BT Hr wrw FEa e



5

(A) Mongols (#9lt) (B) Romans (=)
(C) Greeks(#1&) \9/ Chinese (fi=1)

/059. Who among the following Tomar rulers credited with founding of city of Delhi? (s & § 55
AHET TS F T FY @@ & AT e 22)

(A) Anangapal (3H=19T8) (B) Vajrata (@drn)
(C)~ Rudrane(Fz=) (D) Devaraja (Za3ram)

Q80 Who was the first Indian to have entered the Indian Civil Services -(FIATT WA Aar3it 7
AT qre TS UUH AT #2101 2)

(A) Satyendra Nath Tagore (3xda1 -1y A7)  (B) Morarji Desoi (FTSAT Zars)

(S~ S N Banerjee (v va @@17a) (D) Subash Chandra Bose(H31¥ 9+ &1H)
Q§1./$hNaji made his capital in 1874 AD at - { T+7 1674 3 Rarsh & #Y sr9eh Toranh gemar am)

(A) Sitaragarh (F&e3=13) (B) —Rajgarh(T15131%)

(C) Purander(q%aX) (D) Sangali (HTeTEY)

Mm are Dilwara Temples located?(f2aary & sfay =& Tua )
X
(A) Sharavan Belagola(eR@ar IaaiaT)  (B) Parasnath hills (YRE1T 989)

{C) indore (32) ({3)/ Mt Abu (HT3Z 31ma)
?/rhe greatest diversity of animals and plants species occurs in (Fa® a3y St 3T geeafy RARuaT
gy st 8)-

(A) Temperate deciduous forests (2fiasor Uuiafd ar yasis siaren)
(B>~ Tropical moist forests (I=orafeaeii 5157 Sore)
(C)  Heavily poliuted rivers (aga #1éY wfa)
(D) Desert lands (F5Fae)
Q64. _The largest producer of coffee in the world is ( g & T &1 Fad T3 3ENEF B)

(5)/- Brazil (@arshe) (8) Sn Lanka (sfraien)
(C) india (31X (D)  Myanmar (FIi#HR)

Q85. Source of River nile is (re1 7Y &1 st )

\/(A) Lake Viktoria (S dresarivan) (B),__ Lake Nassir (@& 1T 8%)

(C)  Lake Cad(@® ¥3) (D)  Lake Tanganika(da diarforem)

Q Which one of the following countries is “Orange Revolution” associated - (ff#=7 3 & =t @ 2or

Fifa & daur @an 3)

(A)  Brazil (arsiren) (B)  Sudan(Hsr)
(C) Turkey (F_l,!ﬁh {23—"Ukraine (=)

\}67.’ As output increases, average fixed cost- (37912 ¥&=t ¥ T T AReeRE 7o)
(A)  Increases (3ZaT®) (B) firstincreases and then falls (T Sgar & fsy BT svar &)
Ms (Far ) (D) remain constant (& TS BdT )
Q68. ity paisa coins are (99TH 948 & AsF Far )
(A) full bodied money (39T 3z)
(8) limited legal tender(@fAa dw 237
(C) Unlimited legal tender (3IRAIfAT &y 237

Mgauy convertible (Fre=N I 9T HFA)
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Q69. When was the New Liberalized industrial Policy announced in India? (3 2 7& a3

e e ¥ WL ES)

(A) 1989 (B) 1990 1 891 (D) 1992
\Q/TD/-Which one of the following is the indirect tax?(==7 #* & FaT FUETET FI &)
\(}/ Excise Duty (TFaESs 3410) (B) Capital Gains Tax(¥fea = FI)
(<) Wealth Tax (Fufea &) (D) Corporation Tax (ZaaSra FX)

cycommerdanzaﬁon of agriculture implies (F ¥ seafEToT § FaeT F4AT 87)
) (A)  Cultivation of timbers (3T T 3eE)
(B8) Plantation (4TY S31TAT)
WPMU@onofmpforwe(ﬁﬁﬂﬁﬁvmﬂm
(D)  Production of crop like wheat and rice(FI§ aTaa H1 Scaiae)
\We wage policy in india depends on the (m#mmmwmmm
(B Productivity (3e3r&aan) (B) cost of living(I&1-Fg=1 HY FFT)
(C) Standard of living(Ig=1-8g= & TY) (D) wholesale price index(=& FFd g=HY)
Q73_ In nuclear fusion, energy is released as:-(qy fawe= =30 R F T F RAFIN )
/ (A)  Light (w#rer) (B}~ Heat (3551
(C) Chemical energy (Tr@r@afa® 331 (D) Mechanical energy(aT¥& FiT)
Q74_ A substitute for wool fiber is FaF W [ ?)
(A) Mercerized cotton (BYY~ Nyion 66
(C) PVC (D) Acrylon

?/ The cellular phone system (mobile communication system) has a basic operational building block.
is called (AET HIA QO & U JIRTY HUTEA oar a1 §1 38 #8a 2)

(A) Transmitter (ZiETATT) (B) Subscriber (TfEF® aT)
(S)/Cell (e (D)  Radio base station XT2aT &F ¥23+)

PART 4 — GENERAL INTELLIGENCE AND REASONING

Q If DIRECTION is coded as RIDTCENOI, how is PRINCIPAL coded in that code ./ 313X
DIRECTION %! #12= 73 RIDTCENO! f&@r :me &t PRINCIPAL &1 3% @13 31 %3 f@ar smean.

Scl\)/IRPCCNLAP (B) RIPICNALP (C) PIRCNIPLA (D) ICNRIPALP
qy hoose the odd one out. / =7 7 & it JFHARA® ¢ 33 94

(A) (8) 28 C) 42 (D) 56
Q78. one will replace the question mark? / 357 3 & UerT g i FT91& F41 3MA7N.

| Az Yi Ca ‘ Es |
T (TS R
i Ga l Is ] ¥ ¢
t Ms | O t Qe i
i ; '
(A Ly (B)  Kis ©) e © ke A

y Arrange the words given below in meaningful sequence. / ¥ 23 71v srecl Ardies siewar & sand.
1. Poverty 2. Population 3. Death 4 Unemployment 5. Disease

(A) 23451 B) 34251 _(Cr— 24153 (D) 1.2345
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/an. Look at the series: F2, » D8, C16, B32 what number should fill in the blank. / =1 Y@ FY W
ELi0g

Q@I FUTT Y H5Y
(A) A18 (B) G4 \/ﬁ/ E4 (D) E3

Q81.Which word does not belong with the others? / &= |T 9 S Y § HEa A4 &

/ 1Ay Flour (B) Sourdough (C) Pumpernickel (D) Loaf
Q82. ZAs. YB. XCs WD, _____ Fill in the blank / WTAT F2ATH 3.

/ A) ENV B) _ViE (C)  VEs (D) VE,
Q83. 24:60:210: =4

A 505 (B) 425 (C) 420 (D) 526 -

Q84. _Choose the word that is essential part of the underlined word. / 3 e F I ST TWifha orex r
!mf(%m 2.

Desert
A{A) Cactus (B8) rid (C) Oasis (D) Flat

- A woman says, “If you reverse my own age, the figures represent my husband’s age. He is
ofcourse senior to me and the difference between our ages is one- eleventh of their sum”.

(A) 23 years (8) 34 years (9/ 45 years (D) None of these
- Veena who is sister — in — law of Ashok is daughter in law of Kalyani. Dheeraj is father of Sudeep
who is the only brother of Ashok. How is Kalyani related to Ashok. / Yo 37 mre g 3renes A ar WEE

Foarofr | Eﬁma?fﬁar%gatraﬂa‘rwmméamﬁa:WI Faroft T 3120 1 F=aT fFrear &
(A) Mother in iaw (B) Aunt (C) Wife !9«)» None of these

ny’rincipalz Doctrine:: Living:____ 2
(A) Dead (8)\/leehhood (C) Will (D) Likelihood
Q88. Choose the number which wil come next in series. / 3 YW 3 HITET IF FhT AT HreaTm|
\ 87,74, 61, 48,
{(A) 35 (B) 30 (C) 32 (D) 25
\Qge./ In certain code SWITCH is written as TVJSDG, which word would be written as CQFZE. / 3111
WITCH &I #12s 3@ 0 TVJSDG T sire &Y #te wr oz 2 Sra@T #g a8 19 cQFze

(A) BARED (B) BRAED (C) ~-BREAD (D) BRADE
@QQ/’Choose the odd one out. / =T F T =7 Wﬂ%ﬁ 9.

(A) Semicircie (B) eminar (C) Semifinal (D) Semicoion
Q\91. ich one will replace teKqujstion mark? / $7 3 A =T Rew $r srarg Far T

(A) 13 B) 14 © 12 (D) 1st/

Look at the series: 0.15, 0.3, » 1.2, 2.4 what number shouid fill in the blank. /=g QBEFITEET
3@ 3R FaTY 3r9teT 31 Fher @r Eliid

(A) 48 () 0.0006 © o6 o~ (0O o9
\ ?93. Which word does not beiong with the others? / &t &t UL G WY [ WEAT™T L B,
‘ (A) Fair (8) Just (C) Equitable (D) Favorabie /
y Marathon is to race as Hibernation is to.
3 (A) Winter (B) Bear (C) Dream (D) Sieep

Q95  Choose the number which will come next in the series? / $H @ F 91T 319 ®her @1 31U



15,45, 135, 405,

(A) 550 B) 650 (C) o945 D) 121 :
? Count the number of Squares in the given figure. / sf1er & arafy I 3 %ﬁgﬂ?ﬁ/ﬁ'l

The drugstore is west of the market/ 370 WK A @ ofes HE
Iffirst two statements are true then third statement is?
\@/ True (B) False (€)  Uncertain

098/950R, P«QS, P,QT, » P1AQV _Fill in the blank / @raf AT HE
T w pow ®) Pav, (€L~ Pau ©) PQU

(A) 125 B) 127 € 112 0O) 118

Sonia reaatedtoAamar.mwwm@mm#m#ﬂﬁtmmﬁmmﬁ

m%la\ﬁmmmmmhm?l

(A)  Wife (B) Sister (C)  Sisterin Law (D) Datais inadequate



